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; 100kN/MZ#B % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B -~ — — —
Zzhn st 1.00 | 0.00 ~ 4.67 5818 | Lt | 000 ~ 0.00| 1.62 818 st 1.00 | 5.00 ~ 56.00 5818 | =S | 5.00 ~ 5.00)| 1.62 818
2 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ# %% — - ~ — — |3mZERBZ B -~ — — —
Zzh st 1.00 | 0.00 ~ 586 73.28 | #h S | 000 ~ 000|177 8.93 ZzhLst 1.00 | 5.00 ~ 6.60 73.28 | EnS | 6.00 ~ 660|177 8.93
3 100kN/MZ#B% % — -~ = —|3mEBZB| — ~ — — — | 100kN/MZ# %% — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 7.69 98.68 | s | 0oo ~ 769|207 10.47 ZzhLst 1.00 | 5.00 ~ 10.60 98.68 | =N | 5.00 ~ 1060|207 10.47
4 100kN/M%E#BZ 5| 1.00 | 0.00 ~ 3.94 164.42 |3m%EFBZB| 0.00 ~ 1.67| 5.90 19.72 | 100kN/mM%E#BZ 5% | 1.00 | 1091 ~ 47.05| 164.42 |3m%ERBAB| 2500 ~ 47.05 | 3.90 19.72
Zh st 1.00| 394 ~ 1173 100.00 | TS | 1.67 ~ 1173 3.00 15.16 Zh st 1.00 | 6,00 ~ 10.91 100.00 | =S | 5.00 ~ 2500 3.00 15.16
5 100kN/mM%#8Z5 | 1.00 | 0.00 ~ 391 163.85 |3mE#BZB| 0.00 ~ 157|882 19.30 | 100kN/mM%E#BZ2 5| 1.00 | 10.70 ~ 47.05| 163.85 |3m%ERBAB| 2500 ~ 47.05 | 3.82 19.50
Zh st 1.00| 391 ~ 1w| 100.00 | EhLS | 1.57 ~ 1270| 3.00 15.16 zhs 1.00|5.00 ~ 1070 100.00 | =nst | 5,00 ~ 2500| 3.00 15.16
e 100kN/M%Z#BZ 5| 1.00 | 0.00 ~ 385| 162.70 |3mEEZB| 0.00 ~ 163|587 19.65 | 100kN/mM%E#BZ 5% | 1.00 | 1082 ~ 4224 162.70 |3m%ERBAB| 2500 ~ 4224 | 3.87 19.55
ZhnLst 1.00| 38 ~ 11.63| 100.00 | TS | 1.63 ~ 1163 3.00 15.16 zhs 1.00 | 5.00 ~ 1082 100.00 | Fns | 500 ~ 2500| 3.00 15.16
100kN/MZ#B % % ImEHEAD ~ 100kN/m%Z#BZ % ~ ImERZS ~
ZhLlst Zh s ~ ZhLlst ~ ZhLst ~
100kN/MZ#B % % ~ ImEHEAD ~ 100kN/m%Z#BZ % ~ ImERZS ~
Zh s ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEAD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLLsh ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh st ~ ZhLst ~ ZhLlst ~ ZzhLst ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh st ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlsh ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhLst ~ ZhLLsh ~ ZhLst ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
zh s ~ Zzh st ~ zhs ~ Zzh st ~




